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DIPLOMA IN EARLY CHILDHOOD CARE 

AND EDUCATION (DECE) 

Term-End Examination 

June, 2018 
DECE -3 : SERVICES AND PROGRAMMES 

FOR CHILDREN 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any five questions. 

1. (a) What is the rationale of early childhood 
development intervention ? 	 10 

(b) Discuss two major considerations involved in 
delivering of ECCE services in our country. 	10 

2. (a) Describe the activities of any two national 
level organizations working for child 
development. 	 10 

(b) Describe the contribution of any two major 
thinkers in ECCE. 	 10 

3. (a) What do you understand by the term 
`special children' ? 	 5 

(b) "Sunita is blind. There is no point in taking 
her to a park as she cannot enjoy the 
scenery." Do you agree with the statement ? 
Give reasons to support your answer. 	5 

(c) What is the role of a Child Care worker if she 
has a 'special child' in her preschool ? 	10 
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4. (a) Describe the characteristics of children with 

mental retardation of varying degrees. 	10 

(b) What is the role of an early childhood 

educator in supporting the development of 

these children ? 10 

5. (a) Describe a strategy for communicating 

health and nutrition messages in the 

community. 10 

(b) What are the features of a good message ? 

Write any two messages that you will 

communicate regarding preschool education. 5 

(c) List the various methods of communication. 

Choose any one of the messages you have 

listed above and describe the method you 

will use to impart this message. 

6. (a) What is Counselling ? 	 5 

(b) For becoming • an effective counsellor, 

describe the qualities you should possess. 	10 

(c) What are the advantages of using the group' 

in educating people ? 	 5 
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